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16U/104/15(Set-l)

No. of Questions : 180

U W WET ;180
: o430
Time :2 Hours | [ Full Marks : 42
TAT 2 g2 ] [ qoriE: 450
Inmstructuion ;
e :

This paper consists of Objective Type Questions and s divided into
Two Sections (T & 1) a5 under :

T5 W0 TR e ov smnfe & mer 9 @ST 4 wd 1) & fe g, i
fas =it afel 3

(1} Section - I consists of 120 Ubjective Type Questions on General Awareness,
Mental Ability, Comprehension and Subject Awareness in some major
subjects.

(5) @S - I 7 120 TeRaetvyg gom T ST, i ST, TR T
g favt @ 9 o anenfia #

(2) Section - II consists of 30 Objective Type Questions on (I English
Language and (IT) Hindi Language.

fa]w-tlﬁaua'@ﬁﬁd“mm{nmﬁﬁwaﬁ?m] st @ 59w
amntya # |

A candidate is required to attempt as many questions as he /she can of Section-
[, and Questions on ANY ONE of the TWO Language papers (1) English OR
(I Hindi in Section - I1,

mﬁﬁﬂ@ﬁ?ﬁﬁM~lﬁﬂﬂﬁrﬁﬁqﬁﬁﬂrw-H${l}mﬁﬁ
wuuﬁ?&:waﬁﬂ?aﬁﬁw%nﬁ‘raﬂﬁﬁ|

Notel7e: (1)  Fach question carries 3 {Three) marks, Ose mark will be deducted

for each incorrect auswer. Zero mark will be awarded for sach
unattempted guestion,

TEE 5% 3 Gfte) st B VElE T wnv
AT | it IR W T mes gy gt

3]
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{2}  If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.
ot vl dsfas oow v o @ fee mw g o s a8
gE § |

(3] Each question is followed by Four alternative answers (1), €2), (3)
and (4], One of these answers is correct. Select the correct answer
and record it against the relevant question in the ANSWER-SHEET
by darkening the circle with Ball Point Pen as per guidelines.
oerE o § TR Saews o g o E R (), (), () @A)
Fadt % awi wm ) s @ dew OF Om & w8 W W
qﬁﬁmaﬂﬂ%ﬂﬁaﬂ?—uﬁmﬁmﬁxﬁmﬁmﬁ
Riterery ofa 0 (M) @ AW @EE T G g @

Ui |
SECTION - |

qrE -1
According to Fisher's version of Quantity theory of money, total money supply
15 exprossed as: ,

s . . M VMV
(1) MV only (2} MV+M V (3) M V+ MV =
T gguﬁﬂmﬁigmﬁwwﬁ;zﬁw,@@aﬁqﬁﬁmm
W 8

Tap : ; M VMY
(1) &aa MV @) MV+M'V (3 MV+MV @) T+
A phenomenon of ‘coexistence of inflation and unemployment’ is termed as
(1) Sticky prices (2] Inflation {3) Defation (4) Staflation
o wlyre ot A e AT 1 W e T &, FECRn ¥
(1) sraa® @ (2) it (3) s (4) Frmes whifd

The Cambridge equation differs from Fisher's Equal:'_ﬂn in the sense thal 15 ;
(1) measures aggregate income rather than fransaclions

(2} measures transactions rather thar aggregale income

(3} focusses on holding rather than spending money

{4} Focusses on spending rather than holding moncy

v Ao frmw @ Tl 6 o 3 P B B T

(1) ﬁ-ﬁ%mmmmwmm%

maqma‘ﬂmmm-ﬁﬂﬁrwmzﬁmﬁ
] Eﬂﬁf‘ifhﬂﬁﬂﬁﬂmﬂmﬂﬁﬁﬁﬂﬁﬁﬁ
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Which type of tax helps in reducing disparities of income ?

(1) Proportional tax {2) Regressive tax

(3) Progressive tax (4) None of the above
ama @ B qF B | TIF-H T qETIn wear @ 7

(1) srgofes &= (2) sl

(3) wfaefter &= (4) wudEa o1 TE

If the proportionate change in demand is less than proportionate change in
price, the elasticity of demand is :

(1) Perfectly elastic {2) Unit elastic

{3) Relatively elastic (4) Relatively inelastic
ﬂﬁﬂﬂﬁﬁﬂﬁ@ﬁﬁﬁﬁﬂ?ﬁﬁﬁ‘lﬁﬁgﬂmﬁqﬁm afRtad=s & &9 8
B @ A e

(1) qof sreaw (2) T8 FmEen
(3) wremE ErEgN (4) Wi aegER

» According to Keynes, employment depends upon
(1) Aggregate demand (2) Aggregate supply
(3) Marginal Effici of capital (4) Effective demand
T T AR, T A B
(1) ¥ #i e (2) e ofit w
(3) o @ e wrdemn o (4) wIEE HT TR
Fixed cost in Economics is called :
(1) Prime cost 2) Supplementary cost
(3) Oppartunity cost (4) Real cost
aeferes % Rew = w e o &
(1) wrafdes @mma (2) TF A
(3) s @rm (4) INEREE FvE

Name the Economist who distinguished between value in use and value in
exchange and gave the famous example of diamonds and water -

ii;i" Eﬂﬁf Ricardo (2) Adam Smith
ari vlarx ' (4) alfred Marshall
S s WA TR ft g ey fafmn 7= -
Bt GO e T W ST f - S Eﬁ%;ﬂﬁ'ﬁﬁ’"ﬂm
(1) ¥z RFE! (2) = f

. An industry whose long Tun supply curve is horizontally para

(1} Increasing cost industry lel jg called

{2} Decreasing cost jﬁdlistr}r

ﬁmﬂmﬂﬁmﬁmqmmmﬁﬁﬁgﬁmm e
U anglinioy (2) T S iy T 8
(3) Rer @I (4) =&

(5)

PT.0;
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10. The ‘crowding out effects’ is zero, when :

11,

12

13.

14.

(1) Thereis quuidi.tj trap

|:E:| Demand fﬂrmnne}l is periu::l.ljf interest inelastic

(3 1S curve is falling

i4) None of the above

FISET Wec WA YU B E, T

(1) S¥&d o B

(2) e @ df qefern @ deTEET

(3) 1S e freen gam &1

(4) Suye 4 @ wig el

When the needs of the present generation are met without compromising the
needs of future generation, it is termed as :

{1) Economic Growth (2) Economic Development

(3} Social Development (4) Sustainable Development
A5 T %ﬁmﬁﬁmﬂﬁﬁzﬁ.mmﬁﬂﬁmmqﬂ
o1 i e 8, W g9 Fer e g

(1) snfetfe wafe (2) sfirs
(3) HwaTE T (4) T T

The aligopoly model in which a producer assumes that his concepetilrs
oubput are fixed and then decides how much to produce is seen in ;

(1) Cournot oligopoly model (2) Stackelberg nﬂ_gupdy model
(3) Bertrand oligopoly model (4) Chamberlin oligupoly model
TR Ated TAs SwEE 18 Wﬂﬁm?ﬁiﬁﬂ*uﬁﬂfgﬁm FTEA

ﬁm%mﬁﬂﬁﬂumﬁﬁfmaﬁmﬁmmimmﬁ:

1 @ AFETER Aigd A (2) Fwem! & semfinR qEd
Eé{zﬁﬁ%$mﬂmqmﬁ f4]%ﬁ?ﬁﬁ$3ﬂlﬁﬂ?ﬁ'tﬁzﬁﬁ
A tax imposed upon monopoly projects |

i (“an be shifted forward
1} Can not be shifted (2)
{(3!} Can be shifted backward (4) None of the above

ok sl e o W
h: mﬁ:mﬂﬁwmw (2} o PEEmE W e E
Hﬁﬁwwmﬁ {ﬂﬁﬂﬂﬁﬁﬂﬁ#aﬂ
: sondition of Pareto optimality holds garrect under | .
g opoly (2) F‘pffect ﬂ:m'ﬂpeﬁhrfnl-
o gﬁgmi‘ly (4) Imperfect competition
() QBT et ot vl w87
qﬁ‘ﬂw . (3) T vl
&) (4) C’.I’:T’[[ HRTNEEY



15.

18.

17.

18.

18.

20.

Distribution of the burden of paying a tax is termed as :

(1) Tax capitalization (2) Sharing of tax burden

{3) Incidence of tax (4) Shifting of tax

R T AR @ R 8w e &

(1) P i (2) W= W o dfen

(3) W (4) = faaea

Which one of the following started use of "psycho-physical” methods ?
{1} Weber (2} Fechner (3) Titchner (4) Watson
Pt & 9 R “aeh st R & awim # g @ 7

(1) #m (2) wFT (3) fww (4) arew

According to Young Helmholtz which one of the fullnwint; is wof a primary
colour ?

{IH Red {2) Blue (3} Green (4) Yellow
o AU FETe @ ApEn Prefafn ¥ @ wie-m mufi o aE E ?
(1} == (2} e (¥ wn (4) diem
According to Freud 1d, Ego and Super-Ego are the :

(1} Personality traits (2) Typesof persomality

(3} Levels of behaviour (4) Parts of persenality structure
WE % HYER 9WE, 3 9T e &

(1) =l e (2) =i & war

(3} TEER & & (4) =ofdmen wivar & sy
Personality traits provide means of :

(1} Describing a person (2) Characterizing a person

(3 Analysing a person (4) Studying a person

Wfeeed HET T Derer v §

(1) 7= wfdy w1 oofq v & (2) T = % oy o
(3) vF =T F fven o (4) T @A & s @

Which of the following ma ¥ not be included in the cat i :
Wi e category of traits theories of

(1} Allport's theory (2) Sheldon's

(3) Eysenck's theory (4) Cattel’s theory

Frafofea 4 ¥ @19 oifge @ vhenm Rt o) Al

T 7 ke T 7@ o
(1) e & frgra (2) TWE a7 fygry

(3) srdf® T g (4) #e5 1 Rigren

PTo,
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22,

23,

24,

23,

26.

Which one of the following tests of intelligence includes both verbal and non-
verpal measures ?

(11 Binet-Simon's Test (2} Terman' Tesl

i3] Wechsler = Bellevue Scale (4) Army-Alpha Test
ﬁ’mﬁﬁﬂ'ﬁﬂﬂ?{ﬂq-mgﬁ.'wﬁm,mﬁaﬁﬁmmﬂﬁﬁmﬁﬂﬂ
wfenfem wwar & 7

(1) F=-wmgm OieTe (2) EXHEA T e

(2) HreTR- e, A (4) amit-arem e
Obstructions in goal /need satisfaction causes : |
{1} Frustration (2) Conflict {3) Stress (4) Anxiety
Flw_;‘:ﬁﬁmmﬂq&#aﬁmﬁmmaﬂﬁgﬁﬁﬂ: |
(1) B (2) % (3) weaTad (4) gl

Trrational fear arising from closed place is called : .

1) Acrophobia  (2) Claustrophobia (3) Agoraphobia {4) Mysophobia
T T A wars 21 T e wa = wE

(1) Ui (2) FamETEEE (3 SRR (4) aTETEIT

In Bells Adjustment Inventory which one of the following areas are mof
included ? |
(1) Emetonal Adjusiment {2y Home Adjustment
(3) Health Adjustment (4) School Adjustment
i grer FfSe e it  Prefafian § 9 Fi g wEe TE R 7
{1} AU srfirTrar (2) TE R
(3) e (4 foremerdl Srfaor
Which one of the following is not alaw of perceptual l:-tg.ard.za':mn ?
(1] Law of similarity (2 Lawn:cnntmlgu!:_;r
by {4) Law ol conlinui
(3) Law of proximity _ :
Frtfir 0 @ @19 T WeiEs e ﬁlqﬁ'ﬁﬁ aﬁ; -
(1) T @ (2) e A
(3) T @ (4) P
According to Bartletl memary isa:

(2) Image formation process

> ctive process
M warnd"-' g (4) Elaborative process

|3 Weconstructive Process

B mh
ﬂﬁﬁf?;‘;ﬂ;ﬁ; (2) wftrm ffer @t wfn &
) I o & (9) foveres i &

3] 5

(8)
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Which one of the following propounded interference theory of forgetting ?

(1) Ebbinghaas (2} Mc Geoch {3) Bartlett (4) Melton & Irwin
e & gwem Rra & ufomes Preefafim 4 & s e e 7

(1) sfmem (2) g (3) aEwE (4) Feew T gii=
Argograph primarity measures :

(1) Reactions (2) Work efficiency (3) Fatigue {4) Monotony
TG e | W w

(1) vfefdmal &1 (2) Fel-gwem & (3) @ (4) e =
Which one of the following suggested that thinking is a "subvocal” speech ?

(1} Osgood (2) Watson (3) Wertheimer  (4) Jacobson
et # 9 Read gam 5 e o i W 2 7
(1) siraTe (2) aEwA (3) W (4) SHwien

Which one of the following theories is considered as a "Cognitive” theary of
learning ?

(1) Hull's Reinforcement theory (2) Tolman's Sign-Cestalt theary
(3) Watsons' S-R theory (4) Guthrie's Contiguity theory
Frefafine # & @ aftvm & e figrg w91 e 2 7 '
(1) == =1 e g (2) <97 & Wi R

(3) T B - e 4) el @ e R
Who said "Politics is the struggle for power™?

(1) K. W.Thompson (2) H.]. Morgenthay
(3) Kaplan (4) Garner

feet wen, il ofE & Ry wed 2 7

(1) @o & go HIFTHA (2} vgo Wo HiTUTE
(3) AT (4) TR

The cbject of incorporation irect inci T— :
Cﬂnsnrfatmn ig i Of Directive Principles of state P“I]EF in Indian
(1) Establishment of political democracy

(2) Establishment of mﬁaldgmmm.:j,

(3) Establishment of GandMag democragy.

(4) E;tﬂ;:%ﬂmm ﬂ:;ﬂ:’;l mmnﬁc democracy

Ty R Hiter= o

(1) TraFiies T B T g Wmmmmé

(1) TG WO B R g

(3) Tl SEEE B TR gy

(4) Wmﬂﬁﬁﬁrﬁﬂaﬁmﬁm

(9)
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34,

J6.

3.

Which of the following fundamental rights is not available to foreign ciizen ?
(1) Equality before law (2) Freedom of expression

(3) Right to life and personal iberty  (4) Right against exploitation

o % & wim-m it afrew R TRt @ o 98F E 7

(1) Bfer = w7 o (2) wifirafin o o

(3) ¥IM 7 2w W o afen (4) T & Reg aiter

Who said, "Nothing short of state is the actualization of freedom” ?

(1} Hobbes (2) Hegel (3) Bentham (4] 1.S. Mill
R W, VWY S 3§ vl w sRvE e e o w7

{1} &= (2) #a (3) s (4) o THo fir
Which theory of right was supported by Bentham ?

(1) Natural right theory (2) Historical right theory

(31 Legal right theory (43 Moral right theory

dors g1 farm afrew fagr & wweds fn o 2

(1) wrFfoes skemm R (2) ufefos sfmn e

(3 B e R (4) 4w wfmw fEm

Colombo proposal (1962) is related to :

(1) Inde-China burder dispule

(2] Shri Lankan Tamil problem

(31 Personal dispute between India and Shri Lanka
(4 fl'lL1L'|-H-'t1'lj_'l,[:'!t'|l"E.h waler dspuke

e ueed (1062) W 2

(1) s i e

(2 it = A W

(3 Hi-dieiar @ @ afkem faas

(4) AE-ATERY @ 4 o [

Wha of the fallowing gives a certificate to the maney bill ?

(1} Finance Minister (2) Prime Miruster

(3) Speaker of Lok Sabha (4) Auditor and Comptroller General
fmﬁﬁﬂﬁﬂﬁﬁﬂmﬁfw-ﬁﬁmg? o

1y fom v {2) W ]

:ZJ} t;ﬁ“-l’l'-ﬂ o 4y Fra=s @ TeETere s

> vine constitution is flexible and evoelved ?
'|.-*.fhlch.nf.tnh£‘fﬁ'||.n‘u 1;} e i —

) BN ook T et 2

F’""’ﬁﬁ_' & W (3] dfefm (4) Wi

(1) mes

(10)
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THREE o LACLICRE L P i_l"n.ll LLlbhcld l..l'dl.l.lhﬂ,': dla W LM LFRLL LR LWy L

(1) Lord Bryce  (2) Laski (3) Burke {4) Lowell
frem arorifee Tat # BEwt @1 e ofenfie fism # 7
(1) =7 agw (2) wwat (3) = (4) =

In parliamentary government the executive is responsible for its function and
policies towards :

(1) Legislature (2) Judiciary

(3) Speaker of Lok Sabha (4) Head of the State
Hodra e A weiew ot o v A @ B o
(1) Rt (2) g

(3) e arEns (4) TRy

The aim of Plato's communism is :

(1) Economic equality (2) Social justce

{3} Unity of the State (4) Freedom of women
HE & R ) Sty &

(1) anfds wamm (2) wrfE =

(3) =T UH (4) =Eersi o =
In Presidential form of Government, Ministers are responsible towards :
(1} President (2) People

(3} Upper House of the legislature {(4) Supreme Courl
WISl W womell # wi free i swes @ @ 7

(1) TRy (2) e

(%) Taifter & wen wam (4) ¥t T
Panchayati Raj System was based on the recommendations of :

{1} Balawant Rai Mehta Committee (2) Sarkaria Commission

(3) Planning Commission (4) Ashok Mehta Committee
SEG U e W 9y amnfes o

(1) F&a= w7 %2 witfy (2) wREfar s

(3) A e (4) e FEm whf

The Macdonald Award provided

(1) Safeguard to minorities

(2} Separate representation 1o Sikhs and the Christians
13) Weightage to the Muslims

(4) Separate representation to Depressed Classeg

(11}
P.T.O.
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49.

(1) ETHETH] T YL FTe

(2) Frerst g | w1 sl
(3) e # AR

(4} =fam = s viokfe

Wha of the following for the first time presented the proposal of proportional
representation system in British Parliament 7

(1) Jermy Bentham (2) Churchal

(31 Thomas Hare {4} Edmund Burke
Ej'ﬁﬁﬁﬂmﬁﬁﬁﬁﬂmﬂmnﬁﬁamwﬁrmmﬁﬂ
(1) ot dem (2) aftie

(3) e Baw (4) TEAvs &

Sharda Act’ is related with whom ?

{1) Sat: Pratha (2} Prostitution

(3) Widow Remarriage (4) Child Marriage

wRE aRtme e aEtam § 7

(1) Wit e | (2) T

(3) e gAdaE (4) =T faame

Which one is the example of ascribed status 7

(1) Professor (2) DHL;;ﬁ {3 l%ﬂ}'astha (4) Peon
e w1 Freiea # @ T T 98 E

(1) g () 2w (3) R (4) =
‘Mitakshara' and 'Dayabhaga’ is related to:

{1) Succession (2) Marriage (3) Sanskara {(4) Ashram
Farmier AR SEBIT @ I 8 7

(1) SR & (2) fEm a (3) wERR H (4) anHs 9|
Which one of the following pair is incorrect ?

(1) Restriction on Sati - Raja Ram Mohan Roy

(2} Bhoodan —  Mahatma Gandhi

(3) Restriction on Child Marriage - Har Vilas Sharda |

(4) AryaSama - Dayanand Saraswall
Erefrfia 4 @ FHA-ET OF T HE e

(1) T Fi - B TF'T‘FZE‘ vin

@ T _ farem RE

(3} & faare e = T

(&) #a T hiiatiial

(12)
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S2.

53.

o4,

PSR LR AR W AT e = RO ity JI TUral migranon !
(1) Unemployment

(2] Attraction of City

(3) Negligence of Agriculture

(4) Maximum Opportunity of employment in village
fPrerifams 4 A BT v i gEw @ o w827 @ 7

(1) arerme

(2) TR T FArwGor

(3) HfE & Ty

(4) T F o F it age

Role is an example of .

(1) Duty and Obligalion (2} Equality of status
(3} Ascribed status (4) Achieved status
‘J-ﬁr.'ﬁl U JEETm #

(1) @@ i =ifie & (2) oiterfd 2 v &
(3) wam whef @ (4) il witerfy @
Which one of the following is not 4 consequence of industrialization ?
(1) Joint family (2) Slums

{3} Tolerance (4) Class conaciousness
ﬁmﬁ!ﬁﬁﬁﬁaﬂqmwwqﬁmq TET R 7

(1) 7 (2) W et

(3) e (4) @ ey

Which of the followin gismot a characl cristic [rrm{}dm]j[y ?

(1) Value of time (2} Rationality -

3} Resiriction on i-nl!f-n:linning

ﬁ“ﬁ%#%ﬁ'ﬂmjﬁmmwﬁmﬂmmﬂ

Which one is not the char:lcterism- of Rur
(1) Caste system (2) Jajmani g hm
¥
(4) Formg] pepyy:
B o o THERT ﬁhhm e ? Fetions

(2) =TT
(3) TS e (4) %ﬂ% -

(13)

(4) Social and political awvareness
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36.

57.

&8,

39,

&60.

Which one of the following is associated with a definite geographical area 7

(1) Social structure (2) Social system (3) Family {4) Community
Pyt & @ T T Aftan dmfre &9 & wEg g d e :
(1) wrEs e (2) wfas @awen (3) 9RER (4) e

Pawer Lo include or exclude a caste from the schedule has been given under our
conshitution to:

(1) President (2) State Governor (3) State legislature (4) Parliament
ey R A Pl AR ) e # T A P @ i B @
(1) e (2) Tron & T (3) wel faErE (4) O

Which one of the following is mot a characteristic of primitive religion 7

(1) Totem (2) Ancestor worship (3) Tabeo (4) Temple

Fresrifsd & & @ anfam o o g A 8 7

i) T (2) i o (@ ¢ (1) AR

In order to provide pensions to workers of the following schemes has been

launched by the Government ;

(1) Swabhiman (2) Swavalamban (3 Swadhar (4) Adhaar

Frratany AiopTRil § § YRR gW 9 W T, et B e 3 A A

gt

(1) FAEE (2) wETHE (3) wEET (4) FmY

Al present India is world's biggest exporter af which among the following
ities 7 _

E:‘:n:l'nt*:d = (b} Coffee - ¢} Sugar (d) Guargum

t tion framthe codes Ei"rmmlﬂw:
Choose the correct.op (2) Only (a) & ()

& on {';; & (d) ) Only (d)
13y Only .
et ﬁfﬂﬁﬂfmmﬁﬁﬁrﬂﬁmw
I[.a} ZIL Wﬁﬁm} HIH (c) BT (d) T
ﬁ:a Eﬁrﬂg‘l@ i (2) mﬂ}ﬁ (c)
Er.g.}]l. 2 () (d) i :
} i in § .
Marasinmnr:tf;:ﬂr?ﬂ;ﬁ:ﬁ 11:3& PR ) mdu:"l-mal r:fum-.s
0) A relotme (4) Banking reforms
4y |nsurd __
‘;]J:W‘Fﬂ g o 2) eﬁﬂrﬁ'l'ﬂ'? TR W
() Tﬁ‘?’ﬂi (4) 3T GER T
o ™ e (18)



61.

64,

E5.

66.

Which is the most sacrad river of R.ig".redic' Period ?

(1} Ganga (2) Yamuna (3) Kaveri (4} Saraswati
FrAGE @l o wee T T8 T e 7

(1) T (2) T (3) e (4) HEET
Where is ancient Buddhist stupa situated ?

(1) Sanchi (2) Amravati

(3) Sarnath (4) Nagarjunkonda

HEH W WY wE fem i 7 M

(1) et (2) aprerd

(3) W (4) =TT

King Ashoka belonged to which dynasty ?

E; ;hwam;!? (2) Gupta Dynasty

Ly

ik, H!ﬂ%aﬁw!érqm e 49 (4) Satavahana Dynasty

(1) #d (2) T T

(3) T o (4) wITETET Tred

Which Chinese pilgrim came to the court of Chandragupta 117

1) HiunTsang  (2) ltsing (3) Fahien (4) Alberuni
TEE 1 % 2w # 29 A ol amay en 2
(1) tereviey (2) e (3) T (4) s
Where is the Lingaraja temple is situated ?

(1} Bhubaneshwar (2) P : - .
ﬁ_-} e ot ﬁig“} . ;Iﬂ (3) Chennai (4) Tirupati
(1) e (2) 7% (3) =it ) freon
When the East Tndia Com . . ;

(1) Hanovarians (2) sm’:ﬂ“w mm{;:iﬁ;ii*ﬁhnd ;Laq ruled by the :
(1) EFrReR (2) vy (3) Ew @ s—

When Subhash Chandra

Bose resigned as the Presi
appointed in his place SR R Taeldent of e vig was

(1} Rajendra Prasad 5 ul

3) C. Rajagopajachari g ﬁmﬁéfmﬁd

& N TR AN INC F G 77§ § Loy gy U

(1} Tors wHE (2) ¥qH Fam .

(3) o TR ) TN Bty
(15)



Wha is the author of the book "Himdu Way of Life" ?

(1} Maulana Abul Kalam Azad (2} lawaharlal Nehru
(3) UT-S;Rﬂdhnkrishnnn (4} Aurcbindo Ghash
8% & o angw [AD & des B E ?
(1) #eT agel s HTE (2} TETET A1A e
(3) o THo IETFETA (4} afa=s o
89. Who established the Satyagraha Ashram ?
(L) Mahatma Gandhi (2) Acharva Kriplani
(3) Loknayak Javaprakash Narayan {4} Acharya Vinoba Bhave
TR 3sm F fpes) senfire R 7
(1) T e (2) sad T
(3) SrFTIE FATE AR (4) amare fisan 4
T0. The wrongly paired match among the following is :
i1y Mahatma Gandhi - Dandi March
(2) Mohammad Ali finnah - Khilafat Movement
(3) SirSved Ahmed Khan - Aligarh Mushm University
(4) Subhash Chandra Bose - Forward Block
et &t 91 T Wt B E 7
(1) sares i - @i T
(2) HEwe e fE - flwred #i
(3) TR Fmw Ews W - Hﬁrﬁﬁﬂfx‘ﬁﬂﬁrﬁﬁﬂm
(8) T T AW ~  WRgs =
21.  Who was the first Indian woman to feature in 2 postal stamp ?
(1) Ahilya Bai (2) b_f.a:-t?r't.‘:;fjﬁilinudh
(3) Meera Bai (4) Sarojintal ;
sy Wi & A N FE Rae w0 g
giwer S
() e (2) FwEE TE
orerard 4y whfir Ay
i d iversi '{I}d' 7
, st modern university in India ?
22, Whichwas the f % ) el University
'E_ﬂ.dfaﬁ ]__]['u.:l"uriii'l:':I b, i ) !
U:' L , (4) Bombay University
La Unl'l'."ﬁ-“-}r ¥
(3) Caleut 6 TR Fpa o ?
e A W i (2) feedh Rvafiamm
(1) % (4) @ Ealiera
(3) @i

(16)



73. The first day of the Saka era based national calendar falls on which date ?

(1) 23 March (2) 21 March (3) 22 March (4) 24 March
T FaeHR AR T devey & gwen R B R v ?
(1) 23 =g (2) 21 =€ (3} 22 wrd (4) 24 wrd

74. Which of the following statements are true of the Congress Socialist Party ?
A. It was a forum for various kinds of socialists in India.
B. It wasa rival organization of Indian National Congress.
C. Tt championed the cause of the workers and peasants.
(1) AandB (2) A,BandC  (3) AandC (4) BandC
BIH HEleRe 98 @ fre d § e e wet d o
A, mﬂﬁﬁﬁqmﬁwﬁﬁmmwﬁﬁqm1
B. u® Awdta sy wiiE w wiREs e o)
C. wagdl W fremi & swo Hfrrs o
(1) AT9B (2) A,BRaC (3) AmacC (4) BuacC
75. Which of the following statements is correct about the Satyagraha Movement ?
(L) Tt was started by Mahatma Gandhi.
(2) Its object was to offerqpoaceful resistance to cruel and unjust laws,

(3) Sunday, the 6 April, 1919 was observed as Satyagraha Day and there was
ari all India hartal,

(4) All the above statemepnts are correct,
mmﬁmﬁﬁmﬁﬁaﬂmﬂﬂﬁ?
(1) S} o wemay o 2 BS |

(2) T TR A I armgg w1 eyl Wi e o
(3) W, 6 i mﬁaﬁﬂﬁq:?ﬁmmwm-m%mw

(4) TwE o Ty ¥
76. Dreadful disaster of Methyl lsocyanate leakage occurred af -

(1) Delhi Bh
Frreet s ffiim mﬂp.:m ﬁaﬁg“’; (4) Ahmedabag
(1) fawh 4§ (2) W & (3) T A i

77.  Dr. Medha Patekar.is deeply associated with - HETEEE &
(1) Save Ganga Movement
0 Sttt ) it Mo
ﬂuwmﬂﬁfﬁqﬂﬁg: Vernan;
(1) 7m TEmsh ST @ 2) T =1 arte

(3) "l FES HETET



ro.  carth L'ay in e world 1s celedraiod O .

(1) Apnl?7 i

farm #P'qﬁ'i'r e ﬂ?ﬁTﬁlﬂu R ) Maren 22

(1) 7olts = (2) 22 3l = (3) 597 ® (4) 22T =
79. The possibility of occurrence of petroleum is largest in

(1) Sedimentary rocks (2) Igneous rocks

(3) Metamorphic rocks (4) Inall these

trEfem mity ¥t waR afte semorer B £

(1) aramard) dali (2) awerg 9= A

(3) Wl e & (4) 77 WA A

80. The outermost layer of the atmosphere is :
(1) Troposphere (2) Stratosphere  (3) Mesosphere (4) Exosphere
THES B wE S8 o £
(1) srmss (2) FETEUER  (3) TEAse (4) STTETSH
81. The plant eating animals are known as :
(1) Herbivores  (2) Carnivores (3) Omnivores (4) None of these
) @t e g we o #
(1) wdETE o FfERE () el @) TR IR

82, As per 2011 census the population of India is approximately :
(1) 1200 million  (2) 1220 million  (3) 1210 million  (4) 1250 million
2011 # wwﬁmaﬂﬂwﬁmﬂﬁmtw:
(1) 1200 Rfera (2) 1220 Bfter (3) 1210 PfEEA (4) 1250 fferT
83. Which region of India has Jarge possibilities of hydro-power generation ?
(1) Morthern region (2) South-east region
(3) North-east region {4) Gouth-west region
1“ﬁ$ﬁmﬁﬁfﬂﬁ-ﬁﬂ'ﬂﬁﬂ=fﬂﬂﬁnﬁﬁﬁl g7

1) Wl & @) eEe- &
[{31'}} FEegEl 6 (4) FhRm-gE 63
1 f Indiaisfamous for :
% iﬁﬂ?ﬂﬁahma} Parkr.;l Tiger A (3) Deer {4) EIEPhﬂﬂt
q :
Tiﬁiﬂ;mmw;m (3) forem % Fee (4) ==h @ form
Tardi i £
o, B e ST g
(3) lronore . a
ﬁjﬁ ] (z) deEC & 8
m ﬁ'ﬁﬁ":ﬁ i ¥ (4) LOER
(3) FE ()



87.

a1,

92.

ST Al W ET XTSI

{1} Troposphere [2) Stratosphere  (3) Mesosphere  (4) Thermosphere

(1) errias 3 (2) v ¥ (3) maEEw § (4) amEse

"Indian Institute of Forest Management” is located at -

{1) Dehradun {2} Bhopal {3) Shimla (4) Lucknow
"W w1 weEe e R f -
(1) =g # (2) e A (3) Rren # (4) FoTs A
“Valley of flowers" in India is located in :
(1) Kumaun region () Kashmir valley
(3} Garhwal region {4) Kulu valley
A # o it e frug @
(1) 7o érm 3 (2) FTR T &
(3) e &3 (4) =g =T
Which pollutant is responsible for acid rains ?
(1) Ozone {2) Methane
{3) Hydrogen (4) Sulphur dioxide
et ot @ frg o goww oved ¢ 2
1) @i (2) faea
(3) EgErAT (4) "o EgsTraEs
Mangrove s found -
(1) Aleng sea coast (2] Within sea
(2} Ininterior of continents (4) On mountains
& Tl (fya) o omd @
(1) w9= @ fem (2) W45 & A
(3) evdrdl @ amefe sy (d) uETE Te
Zebrais found in :
(1) Taiga (2] Tundra (3] Savana (4) Prairie
ST U A
(1) 2m % (2) T3 A (3) warE (4) Gt 3
Largest concentration of Population in the world is found in -
{1} East Asia (2) South-East Asia
(3} West Europe (4) South-West Asia
favy % m B WAMNF Udeaw qrayy oy @
(1) g _ (2) =lovorgd pfeny &
(3) wRerh i & (4) =lrr-ffen oty
(19)

FTO



94.

95.

96.

97.

AN ALARL L LFLLL R Ve NSRS l"ll.-lf, R R Vel R r'a-'-r"'-"—l-l-' W e e .

the world ?

{1} Europe {2) North America

(3) Africa (4) South America
arren 9 gfie ¥ e ¥ Rl v R Aedo w1 87

(1) 7 (2) et amifa

(3) skt (4) =fereft amfta

In India minimum population density for town is considered as:
{11 250 persons per km’ (2) 400 persons per krn’?
(3) 500 persons per km'’ (4) 1000 persons per km’
A # e o i SR SEE e A

(1) 250 =f¥ af o fa (2) 400 af wha @ e
(3) 500 =fde i @7 (4) 1000 =fiF wfd @

As per report of United Nations Development Programiie (2011) the position
of India in Human Development Index 15

(1} 126 (2) 127 (3) 130 (4) 134

Haw LU Brpro i (2011) @ RdE & srgom AR W a6
AT H WA B )

(1) 1264l (2) 12748 (3) 1304 (4) 1347

Which one of the following decades has recorded the lowesl population growth
rabe 11 India ?

e 8 wad e gﬁ-m%ﬂﬁaﬁﬁaﬁﬁﬁﬂé%’?

(1) 1971-81 (2) 198191 (3) 1991-2001 (4) 2001-11
The third stage of demographic transition is characterized by :

(1) High birth and death rates

7) High birth rates and declining death rates

(3) Low birth and death rates
(4) Declining birth rates and low death rates

mﬁﬁmﬂﬁﬁ'ﬂiﬁiqﬁmmﬁﬁﬁmﬂ%r
(1) 9= 7 W@ T
ﬂ}qﬁﬁ?ﬂﬁﬁmﬁﬂ

(3) fe o7 TR



PYRRML AL AN Iowing instuiutions has been notified as the academic authority
for teachers' qualification ?

(1) NCERT (2) NCTE (3) SCERT (4) CBSE
ﬁﬁﬁﬁﬂﬁﬁ#ﬁﬁaﬂﬁﬂﬁﬁ%ﬁmmmﬁmﬂ
s e & 2

M Rdamd 2 mdae B) M fam & (4) & & vw §
99. The first complete census was held in India in:

(1) 1872 (2) 1881 (3) 1891 (4) 1901
ud # weelt qot SerrE d o
(1) 1872 # (2) 1881 & (3) 1891 % (4 1501 #

100.  What is the correct sequence of the following ?
A. Khilafat Movement
B. Minto-Morley Reforms

C. Boycott of Simon Commission

(1) A,B,C (2) B,A.C (% B,C A 4) C,B.A

Pl &1 wé 0 @ 2 2

A, Faarea sr=iem

B. foey+i gur

C. I w9 &5 aftey

(1} A,B,C 2) B.A,C (3) B.C.A 4) C,B, A
101, The leader of the Young Bengal Movement was :

(1) Dwarkanath Tagore (2) Chandrashekhar Deh

(3) Ishwar Chandra Vidyasagar (4 Henry Vivian Derozig

T FT <o w7 ey - *

(1} ERTTres &y (2) "s9ray &

(3) F¥ = e (4) & Rfrrs Ry

102. Morley-Minte Relowms aimed 4t -
(1) Great of Dominion status to Indians

(2) Separate electorates for the Muslims

(3) Special powers to the Gaye ment to deal with w:
(4) Full development of educa ﬁrzrl oo eal with anh'cﬂ"-'em.meﬂt elements

P.T.0,



103. Ductless glands are known as :

(1) Exocrine glands (2} Endocrine glands
(3) Tubular glands {4) Alveolar glands
Afemmrad (SFo) TiEd Feaw #

(1) werdnTEs fem (2) gremmga T
(3) =gege i (4) Tfeaier TRE

104. A camel adapts easily in a desert due to:
{1) Hump with stored food as fats
{2) Water cells in stomach to store metabolic water
(3) Pads beneath two digits and hair growth near eyes and nostrils
(4) RBC's are nucleated
ﬁﬁt'ﬁﬁmﬁm#ﬁwﬁﬁmﬁ e wenfie wee & 7
(1) =as # T4 @ w0 F gafed e
(o} Herifers ey @ TR WA B foy Te d e
(3) o3 ) o 2 Rfre @ s v ara R T B T w3 g
(4) FTe v e =g

105. Cancer is also shown to be enhanced by -

(1) Components of the human diet (2) Certain viruses
(3) Hereditary predisposition (4) All of the above
e T qeT é TEETE &

(1} AFE ¥ER § %89 (2) Fafaa aTaeH
(3) e TEEE (4) o F =

106. Acquired Immune-Deficiency Syndrome (ATDS) is caused by :

(1} Bacterium (2) I’rlnt{:zua
(3) Fungus ki ﬁ;]d'_% Virus
IS fefrfive fmgm (T "
() mﬁ & T (2) ST # B
(3) W @ BN (4) TRRE T F
107. Activity of brain iz fE;TiI;Eb? : 5) MET (& CT
(1) ECG Eﬂ* ik
- a_ﬂ. H
Giadgn @A @ wE BT @RI
& weighing 96 ks consists ©f approximately ....ccr: Bipcmrol s
108. P m;; .z "T]' 66,5 litres {3‘3 g2 litres H‘IJ 42 litres
['”ﬁﬁ,mﬁﬁﬂﬁw .......... e v 2 o
o6 Hkﬁiﬁ 2y 665 et (3 E;'Z'Eﬁ'lﬁ (4) 42
(1y *



108,

110.

111.

2.

113.

114,

A food chain consists of a :

{1) Producer only (2) Consumer only

{3) Producer and consumer (4} Decomposer only

ETE e T f

(1) @ae Wgger & (2) Pae Fog

(3) vremEe o Fegw @ (4) Pem Srariom |

A batis:

(1) A mammal (2) A reptile (3) Anamphibian (4) Anavian
TS #

1) & =l (2) o whgy (3) vH T (4) Ul

A and B are brothers. C and D are sisters. A's son is D's brother. How is B
related to C ?

(1) Father (2) Brother (3) Grandfather  (4) Uncle
..;;i‘l?ﬁmﬂﬁrcﬁnﬁﬁﬁlﬁmmnﬁrﬂﬁlﬂmcﬁmﬁm
(1) foa (2) o (3) Frems (4) =

A party consists of grandmother, father, mother, four sons and their wives and

n;iue son and two datighiers to each of the sons. How many females are their in
all ?

v el ¥ 7 fr, A o wed v e o W wed
w21 et il &) a8l o e AR 2 7 o

(1) 14 (2) 16 (3) 18 (4) 20

Maohan introduces Sohan as the son of the only brother of his father's wi
e T o s ¥ brother o ather's wife. How

(1) Son (2) Cousin (3) Uncle (4) Brother

HET WIET 1 UREY Ay
ik . tﬁ?ﬁuﬁﬁﬁmﬂﬁﬁimﬁﬂmalﬁﬁ

(1) g3 (2) wim (3) = (4) Wrg
Life is related to Death in the same way Hope is related to -

(1) Sad (2) Despair 3) Pai
S A Eﬂﬂ,ﬁﬁaﬂmmg - Frikg
) FEE @y @) oamy @ e 3

(23)
P.TO,



115,  Which of the following numeral pairs which is different from others ?
Pl wemem g f #A-mam A= e ?
(1) 83-75 (2) 58-50 (3) 4942 (@) 2517
116. Which number would replace question mark in the series 7,12, 19,7, 392
gof 7,12,19, 7, 39 % S Hen we gue fHea @ s ot ¢

(1) 29 (2} 28 (3 26 (4) 24
117. In a certain code, SIKKIM is written as THL]JL. How is TRAINING written in
that code ?
{1) UQBHOHOF (2] SOBHOHOH
(3} UQBJOHHO (4) UQBIOHOH

frdl @ # SIKKIM @ fran o & THLJJL. ¢ @2 ¥ TRAINING 1 frm
waTe fer e @ 7

(1) UQBHOHOF (2) SQBHOHOH
(3) UQBJOHHO (4) UQBJOHOH

118. Which of the following statements is incorrect ?

Rreferfinm wadl § A -0 #fE £ 7

i
119. FEnginner is related to Machine in the same way Doctor is related to
(1) Hospital (2) Body
(3) Disease (4) Medicine
sy AR & w8, 4 & SR el €
(1) gifewea § (2) ¥R @
(3) e (4) =T A

120 Which is the number that comes next in the following sequence 7
| ﬂgaﬁﬁ-ﬁﬂm1ﬁuﬁﬁrﬁﬁ'ﬁﬁhﬂaﬁﬁqﬁmmﬂﬁ]ﬂm3?
4, 612,14 28,30, (..-)

OF: @« me @«

(24 )



SECTION =i
LANGUAGE : ENGLISH
(For Candidates Opting English Language)
Nate: Four alternatives are given as possible answers to each question. Give the correct
choice as an answer.

Question Nos. 121-124 : Select the word nearest in meaning to the given word :

121. Foray:

(1) Incursion (2) Contest (3) Ranger (4) Institution
122. Veracity :

(1) Tenacity (2] Wisdom (3) Truthfulness (4) Reliability
123, Arid:

(1) Unproductive (2) Uselasg (3) Withering (4) Dry
124, Garrulity ;

(1} Credulity (2) Sensibility

(3) Loguaciousness [4) Speciousness

Question Nos. 125-128 : Chonse the word opposite in meaning to the given word -

125. Pernicious:

(1) Innocuous  (2) Healthy 13) Hygienic (4) Fine
126. Indignation :

(1) Anger (2) Displeasure  (3) Orderliness (4) Happin
127. Radical : -

(1) Narrow (2) Ul.li'll'lﬂd[-?d (3) Eﬂnﬁwaﬁve (4) Childi
128, Superticl ildish

{1y Sufficient (2) ‘memmd (3) Exeessive HJ Wi
Question Nos. 129132 : S¢|ect the word which can qub,-;jffu Id{*
of words ; O the Biven Erulfh
129, Detailed planfar a Joumney, .

(1) Travelogue () Travelkit (¥ Sched,

Ly,
(25) h”ﬂ'ar__l,a

PTo



130. Perceptible to the ear
(1) Audible {2) Loudable {3} Praiseable (4) Adorable

131, The part of a government which is concerned with making of rules :
{1} Court (2) Tribunal {3} Bar {4) Legislature

132, Concluding part of a literary work
(1) Prologue (2) Epilogue (3) Dialogue (4) Monologue

Question Nos. 133-136 : Fill in the blanks with the correct wword :

133. Fale smiles .................. those who untiringly gmpplc with stark realities of

life.
(1) with {2) over (3) on (4) round
134, My iriend says that he takes tea because it 15 the best ..oovmrimeneen in the
world.
(1) solution (¥} fluid (3) liquid (4) beverage
135. She pulled a long oo when she was told that she could not go o
Agra.
(1) mouth {2y skarl (3) face {4) hand
136. A person who readily oo whatever is said to him is called credulous.
| {[FJEWP“ (2) Gelieves (3) rejects (4) targets
Question Nos 137-140 : Fill in the blanks with the correct preposition :
westion . l
7. The peasant cofused 10 fall ..oeeeeniienc the feet of his mﬂﬁlﬂ: t
s (1) on 12) about (3) upon (4) a
L&
,,,__,,_,himnitr:rgethzr-

v have broken ...,

138, You seelm ooy a) I 2 -
(1 with
boys
. RATIEOE vt three |
139. Di.\’id.n:!mEh'E a for (3) between (4) among,
Ui emembers brought o.ooeeveere e A0 snteresting question.
0 i._‘l-nur-._:-'[ ﬂ'rfr_ﬁmm‘ b (3) forward (3) out
1-& #
(1) o

(26)
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Question Nos. 141-144 : Fill in the blanks with the correct aption :

141, Sheis......c.c......... undergraduate,
(1) a (2) an (3) the (4) none of these
142. A ... .. thief was caught last night.
(1) popular {2) famous (3) notorious (4) graceful
143, 1. letter from my friend before the fifteenth of this month.
(1) expect (2) am expecting
(3) have been expecting (4) have expacted
144. In which neEWspaper .................. ?

(1) the advertisemeny appeared (2} did the advertisement appear

(3) the adverlisements wag appeared  (4) did the advertisement appeared

Question Nos. 145-145 *Choase the misspelled word from each Eroup given belaw

145. (1) Detergent 2) Determinant (3) Deminous (4) Deterrent

146. (1) Plebean (2) Plateay (3] Pledge (4) Pilferages

Question Nos, 147-148 : Seloct the: part of speech of the underlined word in the Biven

sentences «

147.  Each man may try twice,

{1} Pronoun (2} Adjective [3) Determings (4} Adverp
148.  Atlast he is free of her.

(1) Noun (2) Adjective (3) Determing (4) Adverk
Question Nos. 149.150 *Identify the pary having an error ;
148. (1) Ihavereaii-‘i’ﬁ}'ﬂrpﬁ!ll}r (2) T]—.el:h:eeﬁ-snh&pmm £ thi

{3) and I have just glanced through the (4 rest of the nove; T
150. (1) Randhir as well as (2) his three fri

RS lendg
(3 were invited W to the Youth fﬁﬁ‘r’ﬂlinHHL
L] i i r,
(27)

PIlo.
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SECTION -1l
wrE -l
s ; fedh
e 3 Rremfat @ FR) -
frdfer: F’Iﬂﬁﬂﬁﬁnﬁiﬁ[lhﬂ}a{ﬂ}amﬂ}mﬁmdﬁmﬁﬁﬂﬂﬁa
ﬁﬁﬁﬂmﬁﬁfﬁhﬁmﬁﬂqﬁql

161, o= Anrh &l & Rewm Fmah dgan 7

(1) i vt () Tt (3) smad HE (4) T wL
152. an‘gﬁﬁﬂﬂﬁmamﬁ—ﬂmﬁﬁﬁﬂﬁ?ﬁwﬂgm?

(1) 3w (2) wEFT (3) @ (4) et
153, T=erd | w H 1o o o

(1) s (2) = (3) o (4) @ arel
154. g@’ﬁmﬁﬁ#ﬁﬂf

(1) @ @2) W () v L

155. FWWW A I
(1y o (2) o (3) qura (4)

156. zﬁﬁmaﬂﬁﬁﬁﬁaﬁmﬂg?
(1) 30 + O (2) 99 + OE (3) 9 + o (4) == + TW
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